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a) (1+f0)+2-B) = 310
b) (8+5i)+(—8—51) =

c) (1+4)—(2—-6i) =

d) 3—-56i))+(—2—-4i)—(1-24) =

AN
e) 3(5 — 2i) + 2(7 — i) — 3(4 — 3i) :(45-@) +ly-20) - iz =99
) (94502 —Ti) = A3 ~L3C <101 a2 41435 — B¢ 100

g) (3+2i)(3—2%) = £33~ 53¢

h) (3 —4i)? =






) 52 alculer 2¥, 2+, 2°, 1°, 1%, ... BEn déduire une formule générale pour 1", avec n :
1.1.2 Calcul 0}1,2,3,’1, En déd f 1 al e e N

C = 1
U= L
o
C o= -
U= 4

I



1.1.3 Résoudre dans C les équations ci-dessous:

a) 22—34i=0 c) (1+2i)z2=(5—1)z+ 7+ 261

b) (1—4i)z=6—Ti

b) 1-4)2 = (-3
&~
1= 4
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7= Q4

~ (1= 4¢)
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